AAE -8 (H)

HEaE Al st (Fafae) g9
© T U T W
7T : 2 92 HIIFTH HE : 65

(1) 28 999 T H 4 9 & 7 037 &l
(2) w9 H.1 AR 2 st £ 9w F F 5l a1 09T & SO aieTdl
(3) @R F2ogforr & = =9 F 913Ul

off Hoftq Y afed ¥ 31 714, 2012 &1 fog g 9w A Ry Mg & -
L4 4

LS| 3,50,000  HEUT S TE A 3,250
HTEZT 24,000  FIET FOT 1,500
&l (FH) 10% tEEed 5,06,000

TR 25,000 [T 8,06,000
e | 82,000 T &7 18,750
qO7 ST AT 1,96,000  [ATTY SER 2.42,000
CEIEE 12,000 T @HER 1,53,000
FHI9T (S0 3,600 9= (1.4.2010) 79,6350
AaAg 1,16,000 YR &F 1.900
AT a3 1,600  femm 16,500
FIET 9T T 12T 3,400 gHT 2,000
S AT 9,300 &l g7 AT 2,000
L IECAT] 3,750 B H UFS 1,800
o 75,000  d% HATGT I 32,600
7T R A 2,500  FER 12,000

frmfafad 31 e A ¥@d gy 31 479, 2011 BT GA g9 a9 & oy Webel AR
T A1 ol 9T S ar ot R & SRR e v T B
1. Igmmﬁ%lféqaﬂwnwﬁaﬁb—mméz
T iR 7EFA 57 3R B 10%
. e afia 9t ovg T T8 g% - T1,400
3. fr=faRed som 7er & fag wreus &
(i) qgu1 - T 750, 3R (i) fHwram - T 1,500
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4. Yo UR 5, @S AHIRG BY
5 31 A, 2011 $1 SR B 4T T 1,26,660 FaifRa fEman war &l
6. e fae # T 10,000 &1 sdigd faat fAe &l

(20 3iF)

2. e quargd RIS o o el e A9 R T &1 P A
TRad g gy Fifdr sare R dar Fifw)

Yot 3fi¥ AT 1.4.2010(%) 31.3.2011(%)
IR Uit 80,000 85,000
am-gif Rl o 14,500 24,500
FER 9,000 5,000
D - 5,000
ERA S INERCIY 1,03,500 1,19,500

gferatet (%) (%)
A ik 9 50,000 50,000
ERERCIEKIE R 24,000 34,000
FER 9,000 7,000
SR 16,500 19,500
g1 H AmS 4,000 9,000
ot afrfor 1,03,500 1,19,500

(15 3%)
3, Ffertae gaeT A (1) g S (i) ST ST S ia-
EoGiy T (Z) unEEE 7t (%)
4TI gt 8,00,000 T afeEEREl 7,00,000
AT AT 40,000  TATET 25,000
RIEI 1,00,000 A ST AT 1,15,000
Feh FATaY ZFE 10,000  ¥ER 35,000
CEEA] 20,000 SRR 14,600
AT/ 9,000
A6 11,400
T 21T 60,000
A 9,70,000 = 9,70,000
(10 3H%F)
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() WWWFWWTTWWTJ?WE@:[?TTWW’ L
AT &I 796 %30 99T A § 70 A 9 B9 d %9 2 929 aqET

(4 37%F)
(@) AT AT Hr=T i aramy fafau) O6 2 ST a9 B a2 antie
AT HET AT 21 (3 37%)
(1) T T T § AR T ST A B 7 (3 3%)
=TT 97 Hia fzofr Gike! .
(&) Y- fageToT, F2T HiiaH, U7 31 920 (4 37%F)
(@) T o & ary (G 37%F)
(M) wHHATT AT [T (3 FF)

I?n:ti?ﬁ@aamﬂ 31 fleawaR, 2006 1 AT F SRR UoRa. a15. Tedigois &l
o T R &R SR sl s 78 5 sgE I gRE Ak
()  uags d 31 AR 2006 T T 15,000 BT 3aY goe gl 727 B

(i)  T200 BT US = o 7 51 fhan 1 W 98 Ubs 98 1 o el b
T

(iii) 17,000 1 ¥ W fa 71 W 31 @AWY, 2006 9@ SERAT F fow
el 10,000 & AR & A TR Y 7Y 9|

(iv) 10,000 @1 d% GURY & fory 9 &1 IO 741 g A, 2,000 3R
1,000 & = HHA: 7 WD, 2007 3N 9 TGN, 2007 BT 9 BT TT
SR 99 9% 31 fawwar, 2006 ¥ gd w1 f6y Ty

(v)  UH.as. ToOIgud @) 3 O TR 3iTE HER 1 9o & w7 H 9% A 300
a1a1 fhu o foRy Jrps a8 4 ot A8l fobar 3|

(vi) d@ 7 TR gITe R 7800 «T wHIRG fhar

(vii) T40 F 9 TR APHS I8 § < AR T Y M0 3R T35 F § g e
Tl 9 fdopet gl 78 famar T

(vii) IS &1 7 ERET &1 3 T1,000 & o

(ix) 9% 1 Uy 918 Uewsw @ AR 9 9= w 2200 @ wra R

(10 HEF)
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7. %ﬁqﬁaaﬁaﬁtﬁﬁqﬁ@ﬁﬂ%ﬁﬁgﬁaﬁaﬁ%mﬁﬁﬁmﬁ&ﬂwﬁ?zso
ﬁaﬁmﬁmwwwmzﬁrrﬁiﬁﬁﬁmwﬁ

mé@ﬁqﬁﬁmﬁﬁgwaﬁ?wosﬁ%mmﬂ%l

\)

(i) ﬁaﬁﬁ‘@ﬁa’mﬁzzoozﬁq%l

(iii) ?2sa%qmma%@ﬁaaﬁ@ﬁﬁa@ﬁm?ﬁissoaﬁﬁﬁmw%l

(v) THTEE ?2ooaﬁfﬁaﬁﬁmaﬁiwﬁ@ﬁaﬁ‘fﬂ‘é’iﬁmmw%mﬁ
st 3 o 3 i o gg

W) cﬁméﬁa@ﬁwﬁéﬂwﬁﬂﬁ%ﬁmaﬁﬁmw@oq%éﬁﬁ
(ﬁﬁﬁﬁaéﬂaﬁﬁmaﬁmwﬁ)wﬁﬁﬁaaﬁmqﬁaﬁq
o T B

(vi) ?1ooaﬁmﬁa%ﬁﬁaﬁﬁaﬁ?maﬁﬁﬁaﬁﬁé@ﬁwﬁmfm
2l

arde: (1) qﬁﬁaﬁﬁmaﬂﬁﬁﬁﬂwmqﬁ@mﬁm;aﬁ?
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(ii) Gﬁaﬁ@émaﬁﬁqﬁwﬁﬁagmﬁml _
(10 37%)
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ASSISTANT ACCOUNTS OFFICER (CIVIL) EXAMINATION

OCTOBER, 2012

COMMERCIAL AND MANAGEMENT ACCOUNTS

Time Allowed : 2 Hours

Maximum Marks : 65

Notes:—
I. This question paper consists of 4 pages and 7 questions.

2. Question Nos. 1 and 2is COMPULSORY. Attemptany 3 of the rest.
3

Show working notes clearly.

1. The following are the balance taken on 31st March, 2011 from the books of
Mr. Mujib: T 4
Capital 3.50,000 Printing and Stationery 3,250
Drawings 24.000 Bad Debts 1,500
Loan (Cr.) @ 10% 25,000 Purchases 5,06.000
Bills Receivable 82,000 Sales 8.06.000
Plant and Machinery  1,96.000 Sales Tax 18,750
Advertising 12.000 Sundry.Debtors 242000
Commission (Cr.) 3.600 Sundry Creditors 1.53,000
Wages 1.16.000 Stock (01.04.2010) 79.650
Discounts Allowed 1.600 Trade Expenses 1.900
Railway Freighton Rent 16.500
Purchases 3400 Insurance 2,000
Returns Inward 9.300 Interest on Loan 2,000
Cycles 3,750 Cash-in-Hand 1.800
Salaries 75.000 Bank Overdraft 32,600
Rates and taxes 2,500 Computer 12,000

Prepare a Trading and Profit & Loss Account for the year ended 31st March,
2011 and Balance Sheet as on that date after taking into consideration the

following:

|.  Depreciation is to be charged as follow;
Plant and Machinery 5% and Computer 10%
Commission earned but not received - T1 A400.
Provide for the following outstanding items:
(i) Printing - ¥750, and (il) Rent - Z1.500

w2
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4 Charge 5% interest on capital.
5. Stockon3lst March, 2011 was valued at ¥1,26.660

6. Bill receivable include a dishonored bill of $10.000. (20 marks)

l.w)

Following are the abstracts of the Balance Sheet items of M/s Bookhive l_‘td..
Prepare the Funds Flow Statements. Showing the changes in working Capital.

Capital and Liabilities: 1.4.2010 ) 31.3.2011 ®)

Share Capital 20,000 85.000
Profit & Loss Appropriation AJC 14500 24500
Creditors 9.000 5.000
Mortgage - 5000
Total Capital and Liabilities 1,03,500 1,19,500
Assets: ®) )
Land and Building 50,000 50000
Plant and machinery 24,000 34.000
Stock 9.000 7.000
Debtors 16.500 19300
Cash in hand 4000 9,000
Total Assets: 1,03,500 1,19,500

(15 marks)

3. Fromthe following information calculate:
(1) Current Ratio
(2) Quick Ratio
(Ason December 31,2011)

e vl oy

Amount ) Assets Amount ()

Liabilities

Share Capital £.00.000 Fixed Assets 700000
Reserves 40000 Furniture 25000
Profits 100000 Plant& Machinery 1.15.000
Bank Overdraft 10.000 Stock 35000
Creditors 20000 Debtors 14.600
B/R 9,000
Cash 11400
Preliminary Exps. 60.000
Total 9,70,000 Total 9,70.000
(10 marks

aae-8
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6.

3

(a) Whatare the different stock levels for standard items of stores used n
a large manufacturing organization? State atleast 2 factors that are taken
into account while fixing these quantities? (4 marks)

(b) Define Economie Order Quantity (EOQ)? State any 2 assumptions on
which EOQ is based? (3 marks)

(¢) Which are the Principal Ledgers used in cost control accounting?

(3 marks)

Write short notes on the following:

(a) DBreak-even Analysis, Margin of Safety and Angle of Incidence.

(4 marks)
(b) Advantages of Bill of Exchange. (3 marks)
(¢) Activity Ratio Analysis. (3 marks)

From the particulars, make outa Bank Reconciliation Statement and ascertain the
balance as per the cash Book on 31st December, 2006 in the books of XY

Enterprises.

(i)  Passbook <howed an overdraft of 15.000 on 31st December. 2006.

(i) A cheque of 3200 was deposited in the bank but not recorded in the
cash book.

(i) Cheque of T17.000 were issued but chegues worth only T10.000 were
presented for payment up to 31st December. 2006.

(iv) Cheque of T10,000 were sent to the bank for collection. Out of these.
cheque of T2,000 and of 21,000 were credited respectively on 7th January,
20007 and 9th January, 2007 and remaining cheque were credited before 31
December. 2006.

(v) Bankpaid¥300asC hamber of Commerce fee on behalf of XY Enterprises
which was not recorded in the cash book.

(vi) Bank charged interest on overdraft I800.

(vii) 40 for Bank charges were recorded two time in the cash book and bank
expenses of I35 were not at all recorded in the Cash Book.

(viil) Payment side of Cash Book was T1.000 short.

x) Bank received 3200 as interest on debentures on pehalf of XY

Enterprises. (10 marks)
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4
7. Rectify the following errors found in the books of Mr. Sunil. The Trial balance ™~

showéd 250 as debit excess. The difference has been posted to the Suspense

Account.

(i) The total of debit side of Expenses Account has been cast in excess
T150.

(i) The Sales Account has been cast in totalled short by 3200.

(i) One time purchase of 15 has been posted from the Purchase book to
the ledger a T350.

(iv) The sale return of ¥200 from a party has not been posted to that account.
though the party’s account has been credited.

(v) Acheque of 2600 issued to the Supplier’s Account (shown under Sundry
Creditors) towards his dues had been wrongly debited to the Purchases
Account.

(vi) A credit sale of Z100 has been credited to the Sales and also to the
Sundry Debtors Accounts.

(Required: (i) Pass necessary Journal entries for correcting the

P )

above: and
(i) Prepare a Suspence Account as it would appear in the
Ledger.

(10 marks)
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